

## CHEC The Center Tuition & Fees Schedule SY 25-26

- CHEC tuition is required for the entire year whether or not student completes the program
- NO REFUNDS or credits will be issued and tuition for the remainder of the year will be owed if a student discontinues the program for any reason to include but not limited to: parent cancelling registration, moving, health reasons, student removal from program by directors, etc.
- All payments are non-refundable and final.

# **Payment Schedule**

- A registration payment is due at the time of registration. Specific amounts can be found in the tables below.
- Tuition is charged on a 12 month payment plan, that is charged on the 1st of every month, beginning in May 2025 and ending April 2026. Monthly payment amounts shown in the table below.

Center Tuition	Monthly Tuition	Total Tuition- PEP/UA Scholarship Student	Total Tuition- Non-Scholarship Student
Three Day Program	\$650	\$8,300	\$8,150
One Day Program	\$200	\$2,700	\$2,550
Enrichment Program	\$100	\$1,350	\$1,200

# Three Day Program 1st-5th Grade

# PEP/UA Scholarship Students

3 Day Program	
Tuition Prices	25-26
Total Cost	\$8,300
Tuition	\$7,500
Fees Total	\$800
Book Fee	\$150
Field Trip Fee	\$500
Scholarship Fee	\$150

	Payments
Payment Setup	\$8,300
Registration	\$500
12 \$650 Monthly payments May-Apr	\$7,800

### Non Scholarship Students

3 Day Program	
Tuition Prices	25-26
Total Cost	\$8,150
Tuition	\$7,500
Fees Total	\$650
Book Fee	\$150
Field Trip Fee	\$500

	Payments
Payment Setup	\$8,150
Registration	\$350
12 \$650 Monthly payments May-Apr	\$7,800



# One Day Program 1st-5th Grade

### PEP/UA Scholarship Students

1 Day Program	
Tuition Prices	25-26
Total Cost	\$2,700
Tuition	\$2,400
Fees Total	\$300
Book Fee	\$150
Scholarship Fee	\$150

	Payments
Payment Setup	\$2,700
Registration	\$300
12 \$200 Monthly payments May-Apr	\$2,400

#### Non Scholarship Students

1 Day Program	
Tuition Prices	25-26
Total Cost	\$2,550
Tuition	\$2,400
Fees Total	\$150
Book Fee	\$150

	Payments
Payment Setup	\$2,550
Registration	\$150
12 \$200 Monthly payments May-Apr	\$2,400



# Enrichment Program K-2nd

### PEP/UA Scholarship Students

Enrichment	
Tuition Prices	25-26
Total Cost	\$1,350
Tuition	\$1,200
Fees Total	\$150
Scholarship Fee	\$150

	Payments
Payment Setup	\$1,350
Registration	\$150
12 \$100 Monthly payments May-Apr	\$1,200

### Non Scholarship Students

Enrichment	
Tuition Prices	25-26
Total Cost	\$1,200
Tuition	\$1,200
Fees Total	\$0

	Payments
Payment Setup	\$1,200
Registration	\$0
12 \$100 Monthly payments May-Apr	\$1,200



## CHEC The Center- Three and One Day Program 1st-5th Grade Scholarship Payment Schedule SY 25-26

Scholarship Award Amounts SY25-26		
Scholarship	1st-3rd	4th-5th
Unique Abilities (FES-UA)	TBD	TBD
Personalized Education (FTC-PEP)	TBD	TBD

Three Day Program Scholarship Payment Schedule SY 25-26		
UA Award Per Quarter - 1st-3rd: TBD 4th-5th: TBD		
PEP Award Per Quarter - 1st-3rd: TBD 4th-5th: TBD		
Out of Pocket Tuition: \$0 Registration payment can be submitted for reimbursement through EMA		
Funding Period	Payments applied towards	Center
Q3 Funding - Feb '25	May, Jun	\$650 + \$650 = \$1,300
Q4 Funding - Apr '25	Jul, Aug, Sept	\$650 + \$650 + \$650 = \$1,950
Q1 Funding - Sept '25	Oct, Nov, Dec	\$650 + \$650 + \$650 = \$1,950
Q2 Funding - Nov '25	Jan, Feb, Mar	\$650 + \$650 + \$650 = \$1,950
Q3 Funding - Feb '26	Apr, May*, Jun*	\$650 + \$650 + \$650 = \$1,950
Q4 Funding - Apr '26	Jul*, Aug*, Sept* - Carry balance over	\$650 + \$650 + \$650 = \$1,950
*Payments applied towards following school years tuition and rates subject to change		

One Day Program Scholarship Payment Schedule SY 25-26		
UA Award Per Quarter - 1st-3rd: TBD 4th-5th: TBD		
PEP Award Per Quarter - 1st-3rd: TBD 4th-5th: TBD		
Out of Pocket Tuition: \$0 Registration payment can be submitted for reimbursement through EMA		
Funding Period	Payments applied towards	Center
Q3 Funding - Feb '25	May, Jun	\$200 + \$200 = \$400
Q4 Funding - Apr '25	Jul, Aug, Sept	\$200 + \$200 + \$200 = \$600
Q1 Funding - Sept '25	Oct, Nov, Dec	\$200 + \$200 + \$200 = \$600
Q2 Funding - Nov '25	Jan, Feb, Mar	\$200 + \$200 + \$200 = \$600
Q3 Funding - Feb '26	Apr, May*, Jun*	\$200 + \$200 + \$200 = \$600
Q4 Funding - Apr '26	Jul*, Aug*, Sept* - Carry balance over	\$200 + \$200 + \$200 = \$600
*Payments applied towards following school years tuition and rates subject to change		



# CHEC The Center- Enrichment Program K-2nd Grade Scholarship Payment Schedule SY 25-26

Scholarship Award Amounts SY25-26		
Scholarship	K-2nd	
Unique Abilities (FES-UA)	TBD	
Personalized Education (FTC-PEP)	TBD	

Enrichment Program Scholarship Payment Schedule SY 25-26		
UA Award Per Quarter - K-2nd: TBD		
PEP Award Per Quarter -K-2nd: TBD		
Out of Pocket Tuition: \$0 Registration payment can be submitted for reimbursement through EMA		
Funding Period	Payments applied towards	Center
Q3 Funding - Feb '25	May, Jun	\$100 + \$100 = \$200
Q4 Funding - Apr '25	Jul, Aug, Sept	\$100 + \$100 + \$100 = \$300
Q1 Funding - Sept '25	Oct, Nov, Dec	\$100 + \$100 + \$100 = \$300
Q2 Funding - Nov '25	Jan, Feb, Mar	\$100 + \$100 + \$100 = \$300
Q3 Funding - Feb '26	Apr, May*, Jun*	\$100 + \$100 + \$100 = \$300
Q4 Funding - Apr '26	Jul*, Aug*, Sept* - Carry balance over	\$100 + \$100 + \$100 = \$300
*Payments applied towards following school years tuition and rates subject to change		